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Quiz duration: 10 minutes
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The quarter circular arc segment ol a wire with current /
in counterclockwise direction is placed in a uniform A

IﬂHL_HLlIL field B = BZ. The radius of arc is R. Using y
dF = 1dl x B and the polar coordinates, calculate the

total force on the wire segment. Hint: First find the g
Z
direction of F by the right hand rule. In finding the

magnitude by the integral, express the angle between dl

and B in terms of 0.
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The quarter circular arc segment of a wire with current /

In counterclockwise direction is placed in a uniform

magnetic field B = BX. The radius of arc is R. Using A o

dF = ldl x B and the polar coordinates, calculate the
total force on the wire segment. Hint: First find the

direction of F by the right hand rule. In finding the
magnitude by the integral, express the angle between d!

and B in terms of 8.
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T'he quarter circular arc segment of a wire with current 7
In counterclockwise direction is placed in a uniform

magnetic field B = BYy. The radius of arc is R. Using

dF = I1dl x B and the polar coordinates, calculate the
total force on the wire segment. Hint: First find the

direction of F by the right hand rule. In finding the
magnitude by the integral. express the angle between d|
dnd B in terms of 6.
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